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COMPUTER ORGANIZATION
AND ARCHITECTURE

Paper : CS 301

Full Marks : 100

Time : Three hours

The figures in the margln indicate
full marks for the questions.

Answer ang Jioe questions-

(5x2+101=26

(a) Convert the following :

0 (tzso),. = (? ),

(it (r rot.o1)z = (? ),0

(iit (t+s)u = (? ),0

(iu) (aecr),u = (a )t

(u) 0sz)u = (P )t
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(I7-23) in signed-magnitude
and 2's complement method.
which one is better and why.

10+ 10=20

(a) Represent 17'25 in IEEE floating-point
single-precision and double-precision
representation.

(b) Use floating-point arithmetic to perform
the following :

5.375 + t99.25,

10+ 10:20

With a. suitable diagram, discuss a
3-bit carry-lookahead adder.

With Booth's multiplication, perform
(-8) " (-s) .

10+ 10=20

Perform I5l 4 using -
(a) restoring division algorithm

(b) Non-restoring division algorithm.
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(a)

(b)
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5. 5+7+8=2O

Differentiate among the Write through
and Write back Protocols of cache.

In a computer, if the hit ratio = 8Ooh,

cache read time = lns, RAM read
time = 10ns and there are 1000
instructions, then comPute the
speedup.

With a diagram, discuss the Read/Write
operations of a DRAM cell.

5x4=2O

100

(a)

(b)

(c)

6. Write short notes on : (ang four)

(a) p programmed us HiW control unit

(b) Virtual memory

(c) Stored Programmed Architecture

(d) Read operations of CD

(e) Memory hierarchY

A Pipelining.
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